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—& & (Nitric oxide, NO) FENERFIEIRAE

X 100T/96S

R IERE 2 AT 2-3 AN ZE R ORI RE A T 5E o

MEBX :

NO (Nitric Oxide, NO) J"Z /A FAMRAML . PRI, WP, L. WRAEHRSERSGT, Rl is
ARPEFE . I IR A N A5 S, RIEE SAEIIER], 2 — R R i A )1
FENUVIAR R ARE . i B R 3 AR

MERIE

NO 7E1R A SRR 5 AR NO,y—, FERRPEZRE T, NO, 5 AR L AL i R 54, —
W EZEI OIEH AR, PAICE 550nm AN RFIERR g, TE HIRORAE, ATRATHE NO E &

B &L A mRILEE:

KoV WHREEIIE . I G BB AR A A e L (/96 LA . Z81RK.

B FILE AR ANEC 1 -

PEHUM: Wifk 100mLx1 i, 4°CHRAE.

R Witk 6mLx1 #, 4CEBIGIRLE.

A= WAk 6mLx1 i, 4°CREGLRAE. (FHZ AT 60°CHNFAE Y 15min)

ML

1. A BIRALURE (g) « REUBAR(mML)A 1: 5~10 FIELG] CGRIHRINZ 0.1g 4441, B ImL 32
BB HHTUKIRAIH . 10000g, 4°CEC 15min, B, Bk EARN.

2. Y. AR HBAREE Q04 o REBUVEAE (mL) A 500~1000: 1 BIECET CGEIX 500 J34H0E
TN ImL $EBGRD , VKR 7 PR AN ARSI ER 300w, #7453 #5, [AIB% 7 &P, A id 8] 3min); 485 10000g,
4°C, B 15min, B EIEE UK AR,

3. ARG UE SRS BEE .

M SRAIRIER

1. 30606 T BUEEAR A TR 30min BAE, TEFTIKZE 550nm.

2. HfER

THE e

Fefb (uld 100
FRER (uL) 100
A= (ubD 50 50
A= (ulD 50 50

WA, FEHE 15min, THEAKELAILG FLIR, WE Asso, A A=A JIE-A FH
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NO ZEitH:
a. FAMEARKENNEHTEARTT
Bk £ 59 FE N y=10.016x -0.0103, R2=0.9986
1. AL
(1) FrEA R T
NO % (umoL/g #fHE) = (AA+0.0103) +0.016xV K&+ (V =V FEEXW) x1073

=0.125x (AA+0.0103) W
(2) HFEARARE I
NO % & (umoL/mgprot) = ( AA+0.0103) +0.016xV i+ (V £xCpr) x103

=0.125x (AA+0.0103) ~Cpr
2. 2
NO & (umol/10% cell) = (AA+0.0103) <0.016xV g+ (V FE=V FEEx<MpE) 1073

=0.125x ( AA+0.0103) 4% (i)

3. HARFES:
NO & (umoL/L) = (AA+0.0103) +0.016xV sV FE

=125x ( AA+0.0103)
V Rk JRBLEERL, 02mL; VRE: SBPAESARL, 0.1mL; VAR IARBORA, ImL; W: #
Wi, g; Cpr: HAWE, mg/mL

b. F 96 FLARIE KTHEARIT

Bk £V  FEN: y=0.008x - 0.0103, R2=0. 9986

1. AL

(1) #rEARE I

NO % (umoL/g ffHE) = (A A +0.0103) +0.008xV M+ (V FE=V FEEXW) x1073
=0.25%x (AA+0.0103) W

(2) HREARAREITH

NO % (umoL/mg prot) = ( AA+0.0103) +0.008xV Jig+ (V FExCpr) x1073
=0.25x (AA+0.0103) = Cpr

2. 2

NO & (umol/10% cell) = (A A+0.0103) 0.008xV [id+ (V FE=V FEEx<ME) 1073

=0.25x (AA+0.0103) +~4Ifu¥E (Ji )

3. FAMRES:

NO & (umoL/L) = (AA+0.0103) +0.008x V 2 E+V FE=250x ( A A+0.0103)

V Rk JRBLEERL, 02mL; VRE: RBPAESAR, 0.1mLs VAR IIARBORA, ImL; W: #

M, g; Cpr: HAWKE, mg/mL



